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Question Number : 1 Question Id : 9032013103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Curl curl A =
S e —
Options :

grad div A - V2A
| v PEBS A-V7A

grad div A + V2ZA
=& B8 A+ V2A

grad div A - VxA
- & G2 A - VXA

grad divA-V.A
& B8 A-V.A

Question Number : 2 Question Id : 9032013104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In collisions two particles move off at right angles to each other after collision, this happens
when.
edireod® o Swred ofirdo Dotk domé oSS wonore aﬁgmvcm. 608 8.

Options :
Collision is perfectly inelastic and two particles have equal masses
(% ?ge‘i%%;éé oirered BBord HOUD Tokd Swre (Bated Jabore word.

1. %



Collision is Elastic and two particles have unequal masses

%}Eﬂégéé ofirzw vonnonrd HOdD Jod Swre (HEoed Sre somDd.
2. %

Collision is perfectly elastic and two particles have equal masses

- %@fﬁgéé ofireren voeord HOcn Boh Swre (Foed Sdore wowd.

This does not happen in collisions
4 % odirorod® & dPorr SSHD.

Question Number : 3 Question Id : 9032013105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The motion of Gyroscope consists of:
AS° 5 Bod Hidmrod 50A Boénod

Options :
Rotation and Precession

- [Fabeasin HOAM HBRBeazin

Rotation and nutation
[gFoeasin 00 ©F Ve

Precession and nutation
- DB Beasin snOED BFEDTOT

Rotation, precession and nutation
4o (Febeasin, PHBX)Beaain DO EDTO[I0



Question Number : 4 Question Id : 9032013106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The Escape velocity of a particle from the earth’s surface is
trSe0 0o Smdn HerddHSan DoSErd PHeS Io

Options :
7.2 km/sec
- ol la
1. F
8.0 km/s
5 8.0 8%/
11.2 km/sec
Lo 112 8/
+J11.2 km/sec

J11.2 8% [

Question Number : 5 Question Id : 9032013107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When a tuning fork is set into vibrations.
HBLomeR) Bohod TVHHPD

Options :

At both the ends of prongs nodes are formed
_— (D& Sokio Bod ghere HT ©R)0EI E.‘gmnm Slejlals on)



At both the ends of the prongs Antinodes are formed
5 ([H&Goso Bod Fhere H5¢ DO %;aﬂu: Q8 Emeom.

In one prong node is formed at other prong antinode is formed

2.8 ghasin &8 eXoddo DD Toddmed HE Houd PToED ejfntllov
3. % . ¥ ?

Frequency is independent of length of the prongs

4w IYeLED (GodSoso TnE) here EPEYP STREHED.

Question Number : 6 Question Id : 9032013108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A metallic strip of Y = 1.5 x 10""N/m? has a breadth 10cm, width 0.3mm is bent in the form of
arc of length 20cm and radius 50 cm. then the bonding moment is
T4 8 Qo ¥ =15x 10" 63 / & Men) 10 R o 0.3 Dy &) 540

38 w08’ EPQyr. S0 8h5 20 Ro.dh Hoa i 50 20.Q wos D S0 [rDE
0 eV

Options :
4.5 x 102 N-m
o 45X 1028m-8
6.75 x 102 N-m
6.75 x 102 Soes-&
2. ¢
6.75 x 10*N.m
L. 875X 10 S5

4, %



4.5 x 10°N-m
4.5 x 102 s -5

Question Number : 7 Question Id : 9032013109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the value of constant ‘C’ for which the vector
A=i(x+3y)+ j(v-22)+k(x +cz)is solenoidal
R0F 8 A=i(x+31)+ j(v-22)+k(x+cz)i HDroiS oo ?gcwoﬁa‘m 'C’ deva) Qod?

Options :
L C=2
1. %
, ¢ C=-2
C=3
3. %
4, % =

Question Number : 8 Question Id : 9032013110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If A and B are two vectors, then div (A x B) is equal to
A 500 B Bod 563 trdhen eans 85 (A X B) devs 838 damsan

Options:



divA +divB

BEA+TS B
divA -divB
Go A-35 B
2. %

B. curl A - A.curlB

B.56 A-A 56 B
3. ¢ g o

B. curl A+ A.curl B
4% B.sG A+A. 55 B

Question Number : 9 Question Id : 9032013111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Theorem connect the volume integral with surface integral
DH0Ere Sdrdod oS Fwey Sdrded 488 Ho00 éFEJ ?om;oém o0

Options :

Gauss theorem

™R 2ceossiD
1.4 =S

Stokes theorem
5?55% P05 0
2. % B

Green’s theorem
AS Doroésn
3.% TR



De-Morgan theorem
G- Trees ?Oz:;céa’m

Question Number : 10 Question Id : 9032013112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The unit of scattering cross section in Barn, then one Barn is equal to
HOZD DEHDE Do (Haireeo P8 ©owsS 2.5 @) Devds

Options :

27 x 1028 m?
271 x 1028 o2

mx 1028 m2
mx 1028 52

1 x 1028 cm?

12107 2
3. %

1x 1028 m?

1 x 1028 &v?
4, &

Question Number : 11 Question Id : 9032013113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The unit of solid angle is
058" @o%) (BSree0
Options :

Radian
BACHN

Degree
&ifien

Steradian

%ﬁ&ﬁbﬁ
3. ¥

Epoch
2ers

Question Number : 12 Question Id : 9032013114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Total Energy per unit length of the vibrating string is
S0 NG S08 Gy dsros BPEY Fwgo $§ Hend

Options :
) ,-T:AEJLH_J:
1. %
" A T
277 A" wo
2.
3 . 3 ol
—m A" o
2

3. %



Zero
4, %

Question Number : 13 Question Id : 9032013115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A flexible string of length 1 mt and mass 1gm is stretched by a Tension T. The string vibrates
in two segments at a frequency of 500 Hz. Calculate the Tension
28 Dt B o8 (il (o8 303 SiwoR T 88 o8 priBiodhadin. g0l Both po

o ggedore 500 Hz é‘féa@m;o@g $0%00% 086D 8 dendl.
Options :

250 Hz
&

 166.6 Hz
2. F

125 Hz

100 Hz

Question Number : 14 Question Id : 9032013116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For longitudinal vibrations in bars. Only odd-harmonics are present in
5606® ($58rod Evals) $borrod® DED Ford FNHTIen BoGD UIE*

Options:



Free-Free bar

) - ) 580t
1. % VA od G

Fixed-Fixec_i bar
28 - 28 Sgeod’

Fixed-Free bgr
?36 - f};fﬁ“} éémﬁe

Longitudinal vibrations cannot be produced in bars

. éém@a @ﬁagg SBorren B)EY

Question Number : 15 Question Id : 9032013117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Transverse wave velocity in vibrating bars in given by
5020 5aec® 885 880K Jrrdd HHESeomw

Options :

1= wuk
2.9
= ||.£
V¢
3. #



_ o
\ k&

]

Question Number : 16 Question Id : 9032013118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The energy of a damped Harmonic oscillator is given by
SHEDOED ToedE Foreo @) 388 SloEBeeso

Options :

1

7 ;{13;5:? 3bi
1. % -

E = la:;w L
2

E=—aue™
5 A

1
2 Zb
E=—a ue ™

Question Number : 17 Question Id : 9032013119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The angular momentum ‘L’ of the satellite about the centre of the earth is given by
§00 egrdorr SoiSore 807 a0 Ay 5 dhigiEo L' dens

Options :
L =m\ GMr
1. ¢
L =~ GMmr
PV ™
¥ 1||'|'| GMm
3. % =
| 3 '
ro ] (}s'lr{m
V
4, %

Question Number : 18 Question Id : 9032013120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If r isthe position vector then the value of div r o=
P35 508 1 oW BS 1 =

Options :

Zero
1. %



Question Number : 19 Question Id : 9032013121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Bats emits ultrasonic waves. The shortest wavelength in air emitted by a bat is 0.165 cm.
what is the highest frequency a bat can emit. If the velocity of sound in air is 330 m/s
(e edddn ddhwsom Ko e PO JenB CI N ééoﬁ_@@m 0.165

2.0, eandT Ko troe JenE 08 FHRs? Mot (o 330M/R
Options :

1 KHz

2 KHz

3 KHz

3.3 KHz
4. %

Question Number : 20 Question Id : 9032013122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Transverse Impedance in the string is the ratio of
816°0 855 w38 FHnD D8 HIaw

Options :

Longitudinal force to transverse velocity
©HPEED nerdd Hoan &858 ko
A o o

Tangential force to transverse velocity

. Bchmerdd S0k 858 Jifo

Longitudinal force to longitudinal velocity
0P DS O ©XPEHIS

Transverse force to transverse velocity

8858 2erd8 HOow 885 JIrrdd
4, &

Question Number : 21 Question Id : 9032013123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the total energy of a particle is exactly double its rest energy. What is the velocity of the
particle.

S0 k) ando 3§ Dendd, Semo R@:éom &) 48 Deiith Bothre) v @ Swmo G o
Joé

Options:



2. %
LY Z‘\J{gt

3. %
c
V=—7=
\-".?.

4, %

Question Number : 22 Question Id : 9032013124 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What fraction of the total energy is potential when the displacement is one-half of the

amplitude
560 @gé@oe’m Denid Boisi 500088 Srdpto Indo 6N o8 iy 28 45 w0l

Options :

—
8
e |

| -

F | —

3. %

oo | s



Question Number : 23 Question Id : 9032013125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

f "
~ 1
If r isthe position vector then V | —

r

is equal to

1 |
. F

F 4 )
f )

T %0308 wonsSE V.

|
— ‘ Dena Biodiod.

=
s B )
Options :

Zero
1.4

Question Number : 24 Question Id : 9032013126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A rocket having initial mass 240 kg ejects fuel at the rate 6kg/sec with a velocity 2km/sec
vertically down wards relative to itself. Calculate its velocity after 36sec of the start, taking
initial velocity be zero and neglecting gravity.

Foepdo 240 3en ffo T3S $09 sodo 6 3 [ Fewd* 2 &/ Jros® Derre Bod
39 wirgdo 0. SO Erirore grdod) 36 Ve Somd w3 drod drfo.
(@’é@é@m%ﬁ& ﬁi}é@zﬁo&)

Options :

1.96 km/sec
1.96 8%/

1. &

2.3 km/sec
238» /D

2. %

4.6 km/sec
4.6 8%/
3.¢¥

2.67 km/sec
. 2.67 8%/

Question Number : 25 Question Id : 9032013127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The (Vms) velocity of a molecule is proportional to
OBy e Sreo (Vms) & Bob & TA8° Sosnm&on?

Options:
1

JT

1. %



TE

*u"ll T

g | e

4. ®

Question Number : 26 Question Id : 9032013128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Unit for total energy density is
8 - FrolBE GwE) (DPaireazino
Options :

mei
1.¢

/3
- Erg/m’

5« JIK

Jlem
4, %

Question Number : 27 Question Id : 9032013129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

he

According to weir's displacement law )L; = = b = constant the value of b is equal to

496K
53 - im0 Ahdd e | = M = QoS ©owa, * b ‘@) densd
¥ 496K ! 4
Options :
2.9X10 " mk
1.4
. 29X10"°K
2. %
29 mk
3., %
- 290k
4, ®

Question Number : 28 Question Id : 9032013130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The density of gas was found to be 0.3g/lit at 300 mm mercury pressure. Then, what is most
probable velocity(Vp)?
300 mm S8 S 36, 2.8 aralngy Folesd 0.3g/lit e SHFI0AI0. ardfng) Q)

1105 Sogrilyd Sricim (Vp) do8?
Options :

0.817V,
1. %

8.17

.17V

T



817 m/sec

Question Number : 29 Question Id : 9032013131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a gas is suddenly compressed to half from its original value, then calculate the raise in
temperature (original temperature = T1=300k and r=1.5)
PG Jrrd8 $05°D00s a6P(de femiin (F0atfyfd = T1=300kandr=1.5)
Options :
42k

1. #

425k

4.2k

0.42k

Question Number : 30 Question Id : 9032013132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



9
If an atombomb is exploded, then the emitted maximum temperature is 10£. Calculate the
wavelength of maximum energy spectrum.

9
8 BB wron DOSIpD oo KoF aBPUiE 10k, & DG Sevol oY B
&6 SG0liPTR) SHTH0C.

Options:
29 A

1. %

5 @ 29 A

1.8 A

1.0 A
®

Question Number : 31 Question Id : 9032013133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The temperature for three bodies were bound to be T+, T2 and T3 respectively. The intensity
wavelength graph is as showing the figure given below. Find out the temperature relation,

from the graph. (1mis the wavelength at the maximum emissive energy)
11, T2 Ta ﬁi;ﬁ@iéw a3 ééof@gm S S90 858 Hodk ééoﬁ@q;v D)

SonogrR) () S0l S50 SPHodsn 8 a@ﬁé@ 0200 JQOMF B00k.

QR

e

Lami-ﬂ-rﬂl'fu ( AN) —>

Options :

T2>T1=Ts

1. %

T2=> T3> Ty
2. %

Ti>T3>T2
3.v

T1=T2= Ta

Question Number : 32 Question Id : 9032013134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pyrometers are used to measure
28 e TID FoSeedd ad@RAFRS?

Options :



High temperature

£ o E z
- o83 esfiided

Low temperature
o) aifidoD

Very low temperature
o8] asfideo

All temperature ranges

L o) a0

Question Number : 33 Question Id : 9032013135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Critical temperatures of hydrogen and helium were reported as 28k and 4k. Then, find out its
inverse temperature.
6% S0 drdado o] edfirider 28k and dk oy, eand =8 DE%DS

odf(fod Boiol?

Options :

. -189%%, 246°%
1890, 246°%

2. %

-84%, 2469%
3. %

-849%, -2460°¢
4.



Question Number : 34 Question Id : 9032013136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Joule — Thomson coefficient (1) for an ideal gas is
VEG)TaEN @) T - S Dresaw

Options :
R

Question Number : 35 Question Id : 9032013137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Coefficient of Diffusion (D) of a gas is proportional to (T'is temperature)
TPA) @Y DB Hesn, & (Bod THE TR GESHE Botod?



Options :
T2

T2
T2

344
LT

Question Number : 36 Question Id : 9032013138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If Joule- Thomson coefficient (1) is zero then

TS - PaD)® DresEn ErEn vond

Options :
Gas becomes heat
TPASDT I ©HHod

1. %

Gas becomes cold

- FPAI0) BIYNDE0L

Neither gas becomes heat or cold
, SRoEm> $H0ak SEM SOBD



can't define
Ea’aﬂ:.ﬁém

Question Number : 37 Question Id : 9032013139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Carbon dioxide gas passing through porous plug is subjected to Joule-Thomson expansion
(at 2ic). Then calculate the change is temperature. (Pressure found at two ends is 50 atm,
1atm)

G0 - § 856 ardiv 27°% 5 ) B8RP o @Eedirhol. aipdh F6 - e

5 el 10T edfiide et Kool ERENgN Sothe e 50 Hbdw 1atm)

Options :

-33.5%

+33:5%

-3.35%

+3.350

Question Number : 38 Question Id : 9032013140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Stirling’s formula stated that |nN!=
REoh g8y woe |nNI=
Options :
N |[nN+N
kS

1.9

N [AN-N
2.9

N |nN2
3. %

N |nN
4, %

Question Number : 39 Question Id : 9032013141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A mathematical relation between entropy and probability is (Boltzmann relation)
SGO (Do o Jols $0akn Vograide gy i) S8

Options :
S=kinw

’|_$’$
S=lnw
S =kw

S=2klnw



Question Number : 40 Question Id : 9032013142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Micro- Canonical ensemble, the assemblies are
DETRES Ao &R FSHen

Options :
Rigid
| DETID

Impermeable
S35 2o85:
.

Well insulated
. D055 o5

all

@‘33&0533
4.

Question Number : 41 Question Id : 9032013143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Experimentally, the rms speed of hydrogen molecule at NTP is found to be 4 Km/s. Calculate
the rms speed molecule at NTP is:
NTP ¢, ewiad ews ms S5 4 Kmls eons, @%&&5 o) @) eews) Sifam NTP 55

Options :

1 Km/s
1.4



0.1 Km/s
2_ W

0.01 Km/s

10 Km/s
4. %

Question Number : 42 Question Id : 9032013144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If particles are distinguishable and doesn't follow Pauli'sexclusive principle, they obey to
S Hoowmed) Jevdl Swren, TO SN el SRdoionE, o rros g

Options :

Maxwell- Boltzmann Statistics
TBRS - 8°GN Keroswgo

Bose- Einstein Statistics
R - adQS Keros @Ko

Fermi- Divac Statistics
28 - &o°E Hemos (Ko

all
@K&cﬁw



Question Number : 43 Question Id : 9032013145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Three bosons are to be distributed in two compartments. The first and second are having

three and two cells. What is the thermodynamic probability for macro-state (5,0)
Sty S eRfien B0t reos® eg)Sis). Ir Hockn Bois Hiber ST Seth HO

Both (5,0) dpe @;wé‘% Soged
Options :

30

35

Question Number : 44 Question Id : 9032013146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

At What condition Bose- Einstein distribution reduces to Maxwell- Boltzmann distribution.
D 5036 Y, &6 - wRgt 86n PGPS - £ DY 2w $hidon?

Options :
At Very high temperature

v ©08 oS0y



at low temperatures.
o) asflide 56

At absolute temperature
D BEPiE 5

At O%c.
B°%. éﬁg
4. %

Question Number : 45 Question Id : 9032013147 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In young’s double slit experiment the distance between any two consecutive dark fringes is
ohoff) Both - HO%e Barne' Both H58 9% die trbdn

Options :
D
L
1.¢ ¢
’d
= —
_ D
2. %
Dd
p=—
3 % A
B=Ad



Question Number : 46 Question Id : 9032013148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The thickness of a plate of refraction index 1 which produces a change in optical path equal

to 1/3 of the wave length . of light passing through it normally is
28 805 SBYS hmsin & du8 oo (©5003 o8 (T T © 08 ag) §boguis

1/35 S0 ahond © Hos DHotidn Jos?

Options :
2
-1

1. %

Question Number : 47 Question Id : 9032013149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Two light sources are said to be coherent if they
BotH Podadsen HoRFED FOoTe0d

Options :

1. %



are of the same frequency
& DXsaYeagEn JSEFore Bomed

are of the same frequency and maintain a constant phase difference

- 0 s 0N, Sedtiam Rdorr Bowd

are of the same amplitude and maintain a constant phase difference
T8 5055508 JSrSnr wod, STHEEW ?gécnn Somd

are of the same frequency and amplitude

4w Bod& T Feden o SoBIB0Dsen VAPIXDT BOTD.

Question Number : 48 Question Id : 9032013150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

When a thin film of oil or soap bubble is illuminated with white light, multiple colours appear.
This phenomenon is known as
S s B0 Senisd P B8, ts 3D 08 (I d0in, DY Sorben Kmtomran. & T8

§ (SBUSD Divoerty?
Options :

Polarization
_— @émcﬁw

Diffraction

, y DSBIED

Interference
3 ¢ ég%étﬂma’m

4. %



Total Internal Refraction.
SOFPY BHoeHGHw

Question Number : 49 Question Id : 9032013151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In which of the following the interference is produced by the division of wave front.
EBore(Kant> e APEin orrssd Hdssnin 308 HarKHD

Options :

Fabry-Perot interferometer
2 - 2B° SBEGSEHE5

Michelson’s Interferometer
- DEFS 5;858m IrDdSEw

Newton's ring
RS Sediren

Fresnel's biprism.
, 35S B Desed

Question Number : 50 Question Id : 9032013152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

When Newton's rings is observed under white light which of the following is true?
el Sodired 8o $086° 50403 & (Bob &G B ap?



Options :

All coloured rings will be visible.
| % @R Borbe Hediresr SJnisron

All rings will appear white
o) Jodiren BenHBond® soiraw

Only alternate rings will appear
JPodd Sodiren EJHTeow

Only first few coloured rings will be visible.

5°Q) & Sorbe Hediren D 5aron
4.9 =

Question Number : 51 Question Id : 9032013153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When a monochromatic light is replaced by white light is Fresnel’s biprism experiment, the
colour of the central fringe is

BYS DRad EaArnd, 8 $sob nter, BgR 5080 wIARNY) dxfy $8 doibd

Options :

black
PN LAl
1.8 ™

white

3090
2.

red
QBB



yellow
. SoHBord

Question Number : 52 Question Id : 9032013154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In a biprism experiment, the rye-piece was placed at a distance of 120 cm from the source.
The distance between two virtual images was formed to be equal to 0.075 cm. If the rye-
piecemicrometre is moved through 1.888 cms for 20 fringes across the field of view, then the
wave length of the source will be

o5 Poa @Ko, oFSosin Do sodadzy i drdin 120 20. Both oge; dozre

eS8 0.075 Ro.d oFSbey) 1.888%0.D abIpD 20 Sgser Slama, eosd Sdorigsin
208?

Options :

0
| 3600 A

0
5700 A
2. %

0
5800 A

0
5900 A
4.

Question Number : 53 Question Id : 9032013155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which of the following statements is (one) true
& 8ol Brald @ DB VoI

1. The central fringe is Lloyd’s mirror is bright
Al (80" SoRah HGY GBI

2. The central fringe is Fresnel's Biprism is dark.
@3 B @aDH6° Solnch H8E HIBre woiwod

3. The Central fringe is Biprism is sharper than that of Lloyd’s mirror.
D@ Soldud $8, erahE (8 HEES° DR, VSO
Options :

Only 1
- 1and 2

Only 3
3.¢

1and 3

Question Number : 54 Question Id : 9032013156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The displacement of the mirror in a Michelson’s interferometer so that 800 fringes cross the
field of view when a source of wavelength 600 nm is used is
DEEET ;88 Srssing® 800 588 wimuol Ko Pipodin dos?

(P0& w8 ééoﬁggm = 600 nm)

Options :



0.6 nm

0.4 nm
0.12 nm

0.24 nm
g

Question Number : 55 Question Id : 9032013157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

0
How many orders will be visible if the invident radiation 5000 A and the number of lines on
the grating is 2620 per inch?

0
o8 00 i58° 2620 H05w Mo [BoRR 5000 A8 583 D8¥min Tol 8K e Sogy

Options :
1. % 15

17

2. %

19

21

Question Number : 56 Question Id : 9032013158 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The dispersion of a grating is given by
[i®of DFHeeand FEmer
Options:

m

| d cos B

d

5 % m cos

m
d sin 6

i
m sin 0
4. %

Question Number : 57 Question Id : 9032013159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In plane polarized light
Qe ((0HE sP088 Jonofodd DB

Options :

The magnitude of light vectors remains same but orientations change
5008 JOI0 DO Jerdaw =0 P LNtFeRdan SrdE0d

1. %



The magnitude of light vectors change but orientations remain same

08 J0F0 HOrKn Srdhod =R 8 AIR RSV RS IV N
2.

The magnitude and orientations of light vectors both remain same
o0& JOdw HOArrasn TPE) LNERiREn Dot SErSore Botron
3. %

The magnitude and orientations of light vectors both vary continuously

. 08 H0F0 HOSrED SO BATTRRHD Bowk SrLd) ToHEry BotroD
4,

Question Number : 58 Question Id : 9032013160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the refractive indices of E-ray and O-ray are i and y, respectively then, for the negative

crystal
384559 rhrse Sk E-50836n0 H0d 0-508 3tren 10 1, eonde
averd)S §)850% Srlodl.
Options :
He > Mg
1.¢
L x Me<Ho
He =y
3. %
L. =Hp = {}

4. %



Question Number : 59 Question Id : 9032013161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a plane polarized light is allowed to fall on a quarter- wave plate so that the ample
between the optic axis and the plane of vibration is 70°, then the emergent beam from the
quarter wave plate is

20 (thiles 708 derod i Bup SR, GTgin DO Soi o &m0

70%0m3, ééao;o% S50 H08008 05T 508 Homan
Options :

Circularly polarized
HO0H (DS sPod

Plane Polarized
Dsnse (D& Pod

Elliptically polarized
Eag:aie}é 0D se08

Unpolarized
WD o

Question Number : 60 Question Id : 9032013162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Spherical aberration can be minimised by
PR DHGH0D SNoHODH SPHOVHG

1. Using Stops
&i5smen Bdd&rho

2. Bending of a lens
Sesron 208

3. Using plano- concave lenses
Dadde Persed Sedo oo

Using a suitable combination of convex and concave lenses.
OB PHeérsed 0w Hogrsed Shsre Sodrio weioe

Options:

Only 1,2 & 4 are correct

1, 2 & 4 2.5
1.¢ >

Only 1,2 & 3 are correct

1, 2 & 3 2.3y
2. %

Only 2,3, and 4 are correct

2,3&4LE’JQJD
3. %

1,2,3 & 4 are correct

1, 2, 3 & 4 o 2.3y
4. %

Question Number : 61 Question Id : 9032013163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

For Local Area Networks and high-speed internet access, which of the following fibers are
used?
$0¢ Porey wposo DO wEHE Jro 20083 Fotimdd &G o)

Options :
Silica-based Optical fibers

- ROPS SAiPDS o0& Sod

Plastic Optical fibers

FHE o8 Eod
2.« T8

Step- index glass fibers
20 - a00s&) e So&
3. 5% (5] o

graded- index glass fibers.
OBE - 20GE) rre» Sod
4. % o

Question Number : 62 Question Id : 9032013164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pulse dispersion in optical fibers occurs primary due to which of the following mechanisms?
R)06 DGR o8 Sodud® wiKmIS (Eo Babr derdin

1. Intermodal dispersion 2. Material dispersion
8000 Trd e a’awg DB

3. Waveguide dispersion 4. Attenuation dispersion
&orf Ir% DibtfSan Seaze0 Qe

Options :

1. %



1,2 and 3
1,3,and 4

1.2and 4

~1,2and 4
4, %

Question Number : 63 Question Id : 9032013165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The normalized waveguide parameter V in the case of guided modes of a step index fiber is
PSS 06 Yo Hoore S 20G8) od [GE rGen

Options :
27 3 3
V =— a\ny —h,
1.¢ %o
¥ -
27T 7
V=—-\n —n
5 % a sy

33
a\lny —m

aly



Question Number : 64 Question Id : 9032013166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By increasing the core refractive index the number of propagating modes in an optical fiber
Will
06 S8S3 Hredo ) TohodR, Sarzboo Sogy G)F oae®

Options :

Decrease
. é@é:o&

remains constant
2Hrheéod

Increases
é’gtﬂorw Botnod

initially decrease and remains constant
Fend &N Sood ?@:Eﬂonﬂ ©0enol

Question Number : 65 Question Id : 9032013167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Force of attraction between the plates of a condenser given by
SoB)0 Sefe ey T 058 veo Dend

Options :

o

F: _—;‘1

1. % ?

b | =



1
el = o’ A
2. % -
= g g
3.¢ &
F_lo
A =
4, %

Question Number : 66 Question Id : 9032013168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the wrong statement related to Gauss law
e %’JG;D@&J% 20050NR SJpd Dbes

Options :

Gauss law enables to determine the charge is electric field is provided

. DeixS E18 E dendd a)deand REPOSIN T ©3do D3)0SID)D.

Using Gauss law we can calculate E if the charge is given.
©530 BNVDS TR Repodo wroe DS 858 E 2 8805550



Question Number : 67 Question Id : 9032013169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One Tesla is equal to
S 68 Jaedsw

Options :

104 Gauss

4 o
| 10 ree

10¢ Gauss

- 10°% 5

10° Gauss

3 % 109 R

10° Gauss
102 %

Question Number : 68 Question Id : 9032013170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Dielectricpolarization is defined as
DS B8 Head VS HPao
Options :

1_%5



Electric dipole moment per unit length
SP08 BPER TS DS Qrehd (EeebBRn

Electric dipole moment per unit volume
VP08 PeeBlETEDn CwE) DS DEhd (grabsan

2. ¢
Electric dipole moment per unit time
3 % P08 Peo Y DELS Qs (grassn

Magnetic dipole moment per unit volume
, 95°08 HIBOIr T ©aHT0E Liehs (grabso

Question Number : 69 Question Id : 9032013171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The relation between the space and time variations of electric field vector is given by
©odTrEin HOD SoEnE SrE)Bod NS FE 83 E 8 $0000003 $&0580nin

Options :
f oD N
; o°E
ViE=pe|—
KGIL A
1.4
{ -
cE
‘G’XBz}lE‘ A—}
I"x ET o
2 %
_ —0OB
VXE =




Question Number : 70 Question Id : 9032013172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For alternating current passing through capacitor and Inductor individually, which of the
following is correct statement.
038 AiyS W6 Fore SakE S0 (6506° BITHE B3 Sonolod iy Dkt

Options :
In Inductor voltage lags behind the current by %radians.

B850e*n Fga T/, BBYE® 50058° JsEwd wotnod

In capacitor current lags voltage hy% radians

S>r2e8S° (Parirod 8085 %E&{ﬁa;@éa 2828 DEDE BoeDod

In capacitor current and voltage are in phase
SPReBE° [H5&roil EB0tT DO TR o8 $I6° wotrow

3. %

In capacitor current leads voltage by% radians.

30056° (558703 50085 o S8 55) 7 BAADE Swothotnod
4, &

Question Number : 71 Question Id : 9032013173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Hall coeffienct is positive implies that change carriers are
S S5 Frd)Eim wowd 30 & sdTeDH HoESW

Options:

Electrons
-ﬁE}{_SSsEJJ

Protons

. BPerSen
2 ®

Holes

Bolgren
3. ¢

Neutrons

4 % Soeleraen

Question Number : 72 Question Id : 9032013174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The dielectric constant of the medium is 4. The electric field in the dielectric is 108v/m.
Calculate polarization. Take €,= 9X1072 F/m
28 diriiso G &@;55%5 ?goﬂoéxm 4. NS 5508 s 3 58 108 5595/51: Bow

oD ((0Seosinid ST €,= 9X107 2 Fim Sosiioim.
Options:
36x10°% ¢/ m?

36x107% &p / S2

1. %



36x10% ¢/ m’

36107 Bm/fs5m2

5 N
27x10 " c/m

27 x107° Ep [ Sp2

16x10°% ¢/ m’
16x107° Sm/se2

Question Number : 73 Question Id : 9032013175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In RC-phase shift oscillator the phase difference produced by each RC section is
RC- 65 sirdy) B'edod® (8 RCHun $00 ol Setitan dod

Options :

90°

1. %

45°

0
3 ¢ 60

.« 180°

Question Number : 74 Question Id : 9032013176 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For correct measurement of charge by moving coil Ballistic Galvanometer should fulfil the
requirement.
508 0eRf el add@rhod eled) KO Folrdd ehodd HdHe

Options :

Moment of Inertia of the coil must be large and Torsional couple be small.
- 08y 2utidn (radSain HENS B0 DHOCH TP AEn SN aowd.

Moment of Inertia and Torsional couple both must be large.
233 (GRS 000 DTS chifsin Both NN BoGd

Moment of Inertia and Torsional couple both must be small.
2EE (PaSan DO JIATLS oriasn Dot SENHe oD

Moment of Inertia must be less and Torsional couple must be large.
U grnin S5 ©od AP Ao HENS wowd

Question Number : 75 Question Id : 9032013177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The capacitance of the cylindrical capacitor is
K}g&ﬂ&:ﬂtﬂ SarRb Gn¥) Eiodands &@éﬂﬂ

Options:

_ 2re, ]
log .(b/a)

T

1.4



4re 1
I'I

¥

3 log . (b/a)
2. %
C=4re, a
3. %
C=4reg, ag
a—>b
4. %

Question Number : 76 Question Id : 9032013178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For a long solenoid if Bc represents the magnetic induction at the centre of solenoid and

Be represents induction at axial end point then the B% is

¢

28 Srisend) SPORronGE’ APOrand Sogsinait ebiod (H6n e H0dw FOmFE D6

oo 34 BowowsF % devs

Options :

1
z
1.v “

0.693

)

4/



Question Number : 77 Question Id : 9032013179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Transverse nature of electromagnetic wave is given by
Deismrahared Svorre &858 ESorred LATNTE BenHHi)

Options :
E.Ezﬂ and E.E:‘O
.« K.E=00000 K.B =0
E.E.I‘U and E,EZO
K.E=0 000 K.B=0
2. ®
E.Ezﬂ Euldﬁ.ﬁ:{}
K.E=0 000K .B =0
3
E.E.-:'D anclﬁ,ﬁit)
K.E=0 S006wK.B =0
4. %

Question Number : 78 Question Id : 9032013180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Zero point Energy of an Harmonic oscillator is
Foeds Fodos® ey oI Dend



Options :

3
E, =—hw
2
1. %
E =ho
2. %
E, =2ho
3. %
1
E, =—ho
-
4. ¢

Question Number : 79 Question Id : 9032013181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The expression for skin depth is given by
$86%% skin depth % 3858

Options :

2m

1]

| i

|
\ oue

r
| LG

| PR
V2w
"



|
\ ouo

Question Number : 80 Question Id : 9032013182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Free Spaceimpedance is equals to
Erpod® Ry) et En 28 $Erdo
Options :
_— 3770

, . 1980

600
3. %

1002

Question Number : 81 Question Id : 9032013183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The relation between nuclear radius (R) and its mass number (A) is
NeLeTonls) aﬂ;ﬁvcg&}% S0 TR (Bor88 He Somogo

Options :

1. #



RaA

RaA’

1
R(;{A/;

R{;{A%’

Question Number : 82 Question Id : 9032013184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Dimension of the Planck’'s constant is
&eoB ?gmoéaﬁw Sws) &

Options :

ML
1. %
ML2T-

ML?T?

MLT-



Question Number : 83 Question Id : 9032013185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For homogenous reactor, using U the moderator must be
U 0argb ($erBah)E® oG Srited
Options :

Ordinary water
1 i lela YAl

Graphite
e
2. %

CO2
COz

All
&am&m

Question Number : 84 Question Id : 9032013186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
If visible light is used then the Compton’s shift is
snogﬁ aﬁééaﬁa’m (TSE) =088 2 DFI0T Boenoh?
Options :

2h

m,c




Negative

2. %
0
3 ¢
h
m,c
4., %

Question Number : 85 Question Id : 9032013187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If an electron is moving with velocity of ‘ %c 'then what is the de Broglie wavelength of an

electron?

28 doigl Q) i | %c ‘ eowd o9 8T SBorigen
Options :

[t
| 0.03 A

0
03A



Question Number : 86 Question Id : 9032013188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a high energy photon hu makes a heat on collision with a rest electron, then the appropriate
equation is (K=K.E of recoil electron).
K)@e?‘ge’iaés ) a@@;w o5 Py S efimdiin DobB (GPers 48 0 oS 18l =

K) %) %0880

Options :

hu =K +,/K* +m,c’

My — 2 -5 23~
2hv=K + /K +2m,c’K
2. o
7 7
huv = K~ —myc”
3_ W

hu = I(—\){K3 —2m,c’

Question Number : 87 Question Id : 9032013189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The uncertainty in the location (Ax) of a particle is found to be (Av) equal to de-Broglie

wavelength. Then, the uncertainty is velocity is
o8 S Q) é‘geﬁ, Ired®d ©d§BHey SHR® (Ar)0 DO (Av) ©onE wSm:y Go)

e BB Av HET) SorigTRs SirSDE)

Options :



S

\."
8T

Question Number : 88 Question Id : 9032013190 Question Type : MCQ Option Shuffling : Yes Is
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The Laplacian operator is
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If the temperature of beam of He-atoms is T, then de-Broglie wave length of the atoms is given
by C Heatom follow M.N Stashes’
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The phase velocity of ocean waves (u) is given as \/gzﬁ . The group velocity of ocean waves is
(9 = acceleration due to gravity, 2. -wave length C- velocity of light)
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Which of the given function is acceptable wave function (y) ?
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Bragg's equation doesn’t have any solution, iff
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The wavelength of k_ from an element having atomic number 41 is .. Then find out the
wavelength of k_ —line for an atomic number 21
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One dimensional Schrodinger wave equation for a free particle is
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The ratio of nuclear magneton to a Bohr magentonis :
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Based on Rutherford's scattering formula, the amount of scattering particles (scattering) is
directly proportional to
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A radioactive material emits both o and p particles. The half-life is 800 and 200 years

respectively. At what time would the one-fourth of material remain undecayed?
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A plot of decay constant and half -line of various elements show
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Hardons are sub-divided into
SR & (8ol DEEHe DgiEodnnron

Options :

Mesons and baryons
PR o0 TR

Electrons and protons
QOIPR) DO (Erery

Electrons and photons
Joleen O (@feroen

Mesons and leptons
o,y Sobdin Dapdoen

Question Number : 100 Question Id : 9032013202 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In given compounds, which is closed shell nucleus.
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